videliol WAIfE0I (1323203) - 2132 2023 2iicjeld by Milav Dabgar

yed 1(H) [3 d1el]
ANy QvIRid s2i. Aadiilaudi sijel 2 872

$dIGi:
AR A AisSA AHRIIA GSAUI HI2 UIAIRAIHI SHOIG 2He Ad] [24H1A

i 22 ©.
NN UHAI SIAEL

o YRl U, AU YUHIRAI YEH 52 B

o SIA&HAI AHY A AAIE-IA K4S GIHIGUIMHI HEE 52 &

o Yd:GUAIdL: AH I HRUIRAT HI2 dIRd IR GUIDI 53] 2ISIY &

o ysieil: vixdls2el uddi ulatel 244 [Seidl s2q 220

o REAIAGEIR: G5 iERIUYSIR 5]l HI2 6fHi2 dR]S SIH 52 ©

43l gls: "CERVC" (Clarity, Efficiency, Reusability, Verification, Communication)

yed 1(ci) [4 d1el]
sEIAIA] GuAIdI 5214 A1 GEdalI [Hal 2] H? A1 a1 2ligd] HI2A] salAI2 SIa31g4 sz,

SBUIG:
sdidIZ] GUAIdI s34 11 GSAdIHI [FaHI:

o UidA [Awiid: [Aldy BHiu2ld 412 HIds [Riraiid-] Gualiol s2di
o [E214i wale: $521l Guall 13, siciall @l 2uw wdis Mg
o s g/ilS9s2: 2y 2131d Vi id [Gig eldl A
o Adl: YdIdi U A4 laid 21udl
o YidIddl: [Gordid yridld 2dR waag

AIE g deid?l HI24l sdiIS;

YO 2SH P, Ui €2 R, 4 T
R13AId S SI=P*R*T/
gdYe sl

43l gls: "PDRSC" (Proper symbols, Direction flow, Required entry/exit, Simplicity, Consistency)

v

ved 1(s) [7 2Lel]

UlRaAiddi HA1g52 U221 A1€] Gi1d] 244 siduel sl A/¥1g02 AHiu22i] s1Hil32] e2nddl 412 vI2id sis
Gid1dl.

SdIGI:
Ui2li4 102 AU
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Iu2? Gelerel Ausal

= x=5 x=5

= X+=5 X=X+5

= X -= X=x-5

*= X *=5 X=x%*5

/= X /=5 X=x/5

%= X %=5 X=Xx%5
/1= x//=5 X=x//5
Kk — X **=§ X = X ** §
&= X &=5 X=X&5
|= X |=5 X=X|5

A= XA=5 X=x"5

>>= X >>=15 X=x>>5
<<= X <<=5 X=X<<5

A/AIYH2 V2 £21iddi sis:

# vidigie iU verl
num = 10
print("URleis y&i:", num)

# += Vvl Guadl

num += 5

print("+= 5 Usl:", num) # IG2y2: 15
# —= U224l Guaidl

num -= 3

print("-= 3 ussl:", num) # AIGay2: 12
# *= A2l QU

num *= 2
print("*= 2 ugl:", num) # WIBY2: 24

43 gls: "VALUE" (Variable Assignment is Like Updating Existing values)

yed 1(s) OR [7 djei]

vId2diddi S21 2141 A1€] Gididi A4 sigduel Al S21 214 Hinvdl Hi24I YId2id SIS Gid1di.
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*dIGH:
yia2id s2l 21gw;

S21 219y qeid

int g2l (Yeliis aiviAl)
float sdif221 vig-2 (g2liel)
str 2201 (2522)

bool oi[da (True/False)
list shis, uRadeila aius
tuple sMs, AHuRadHlu 2us
set vsMs s

dict sl-dey is]

complex SINAsY 612
NoneType None €2iid &

ARl S21 21 AHinvidl Hi2H] Sis:

# Sel 219w Al YiAM

def identify data type(value):
data_type = type(value). name
print (£"4y®: {value}")
print(£"S2l 219u: {data_type}")
print("-" * 20)

# 3 A=A S21 21g I 22

identify data_type(42) # Integ
identify data_type(3.14) # Float
identify data_type('"Hello World") # Strin
# AIBaye:

# YR 42

# S2l 2194: int

e

# YR: 3.14

# S2l 219u: float

H

# HY®I: Hello World
# 321 219U: str

43l gls: "TYPE-ID" (Tell Your Python Elements - Identify Data)

Eila

g
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Gelsel

42

3.14

"Hello"

True

[1,2,3]

(1,2,3)

{1, 2,3}
{"name": "John"}
2+3j

None
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yed 2() [3 dye1]
ysisis cvIfid s2l. siduel o 2ival Hiall il 1] 2ival 2ligal Hi2 2Ysisis @uil.

SdIGH:
RYSisis A H@INReHA Gau-2d]d dei4 © % WIAIfKd1 AIMIHI HIOWISIY 2SI GUIdI S2 € U Heild did- s2di HI-Y
di- HI2 [S3184 S ©.

ol 2ivaiinial izl 1] efigal 412 2Ysisis:

BEGIN
INPUT first number, second number
IF first number < second number THEN
smallest = first number
ELSE
smallest = second number
END IF
OUTPUT smallest
END

43 gls: "RISE" (Read Input, Select smallest, Echo result)

yed 2(6l) [4 d1el]
Yosa uiiall sl gy aidl 214 Avaiidl 42221 2Aigdi HI24] vIi4 sis [dsaidl.

¥dIGL:

# SRl auAgRAIHl A0 d1R1dl Hi2Hl Wi

# qurieisdi uidell el AwaRAl di

numl = float (input("y&H vyl €ud SA: "))
num2 = float (input("cly) 2wl €wd s: "))
num3 = float(input("ﬂ@ AWl £Wd S2: "))

# a2l d1eid:l

average = (numl + num2 + num3) / 3

# uReiM gl
print(f"{numl}, {num2}, i {num3}-ﬂ 2212z {average}")

2isld:
[

num1, num2, num3 g-y2 average = (num1 + num2 + N .
213 AId N —>| » average 1By s? AHd
S| num3) /3 /

43l gls: "I-ADD-D" (Input three, ADD them up, Divide by 3)

yed 2(s) [7 21el]
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£1Vid S2d 26l prime ® 5 4¢él d cididdl vl SIS duil.

¥YAdIGL:

# AvAl UIgH & S A48l d duikddidi YA
# guleisdi uibedl 2wl di

num

= int(input("¥is AWl €ud sA: "))

# 22 vl w5 A&l quii

if num < 2:

print (£"{num} ¥is UIgH Ayl Hal")

else:

031 H num g-y2 s2i

# is_prime 4 True d2ls AHRall

is_prime = True

# 2 @l sqrt(num) Y&l duiv
for i in range(2, int(num**0.5) + 1):
if num & i == 0:
is_prime = False

break

# uReiy ealial
if is_prime:

print (£"{num} ¥S MIgH JuAl 9")
else:

print (£"{num} s WYy vyl 42il")

-{r\-{ is_prime = True H i=2 ‘ er

N

— & N
is_prime = True E num yigH
a“a
il
g i=i+

‘,7\
num HigH
1 ™

"u2l gls: "PRIME" (Positive number, Range check from 2 to |n, If divisible it's Multiple, Else it's prime)

yed 2(1) OR [3 de]

\ A A \

SAIUIZ V4 ARIRUH g dsldd duil.

¥dIGi:

No.5/2

4



videliol WAIfE0I (1323203) - 2132 2023 2iicjeld by Milav Dabgar

saiAI2 ANRuy

HIds [Refid 24 2AIsIRIH1 Guiol 5214 ged uldlMfEc dfvid geid Hinuisly el Guaidl s34
Alfgsd usld siul AHwG ¥ [Ri2s 44 2loeldcld siid %32

dif$s wdie 44 2icigid 2uw 2ld €2iid sis syHi [da1ddIR wdIdi Yel4 52
G194l HI2 MHA-Adl U3¢ MBI HI2 1420 ssu2il g1s2 ug AHTAIMi Yesd sid 215
$281R 51 § AUS2 S2d| dg) Hesd §281R 501 § AUS2 S| dg) A0

43l gls: "VITAL" (Visual vs Textual, Interpretation ease, Time to create, Alteration flexibility, Logical
representation)

yed 2(6i) OR [4 de]

Al sisq 11G2yz 2] &7?

x=10

y=2

print (x*y)
print (x ** y)
print (x//y)
print (x % y)

FdIG:
vl A4yl AIG2ye
x*y dlensie: 10 x 2 20
X*ry glidis: 102 100
x/1y yelis eiRlisi: 10 + 2 5
x%y HisyE (2iM): 10 + 2 0

42l 2ls: "MEMO" (Multiply, Exponent, Modulo, Operations)

yed 2(s) OR [7 3jel]

dlRil U2 €21igdl vi2lid sis @uii:

A) B)
]_ * % * %
12 * % *
123 * %
1234 *
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FUIG:

# Ued A: awl ved
print("Ued A:")
for i in range(l, 5):
for j in range(l, i + 1):
print(j, end=" ")
print()

# Ued B: diRl Ued
print("\nued B:")
for i in range(4, 0, -1):
for j in range(i):
print("*", end=" ")

print()

visla:
[

213U Id

i=12l4

j=12

j M2 s2l

g2 gu ussl 4d]
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i=42]1

j=0eili-

V)

g2 gu usgsl 4d]

Hu2l gls: "LOOP-NED" (Loop Outer, Order Pattern, Nested loops, End with newline, Display)

yed 3(H) [3 d1el]
%3¢l Gele2ell A1 break statementdi Guaidl aeid s2l.

SdIGH:
break 2e2H-2-1 GUial gu- gzl AHId A1 HIZ A1 8, YR siE AlssA 2lRd Y3l &1,

Gelerel:
# [Geedi vam [ayy vl eligdl

numbers = [2, 4, 6, 7, 8, 10]

for num in numbers:

if num % 2 != 0:
print (£"(GYY vl Huil: {num}")
break

print (£"{num} duiRil & ")
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AHI1G2yz:

2 duiail a1
4 quial 2@l ol
6 duidl 2@l A
[Goy vl Hall: 7

"u2l gls: "EXIT" (EXecute until condition, Immediately Terminate)

wed 3(c1) [4 31el]
dioy Geleel 13 if...else statement A4wdi.

SdIGH:
if...else 22242 A s s[Seldd 22ei-2 © ¥ [AlEw 21d True 5 False ¢idi-l AIEIR AHE-AEI SIS 6disy 55522 52

N\

.

[Aesu:

if 2hRd:
# % 2Rd True ¢l di ¥l sis vi[SssYe el
else:

# % 2Rd False ¢l di ¥l sis vilsassye el
Geleeer:

# vl A4 © § [Gyy d duiig
number = int(input("s vyl €A sA: "))

if number % 2 ==

print (£"{number} ¥iS ¥4 2wl H")
else:

print (£"{number} is [dwy awul ©")

visld:
[

e|«—7/ number 24 & b2 s2 /R‘

.“\_7/ number (GyH & [ /u

Hu2l 2ls: "CITE" (Check condition, If True Execute this, Else execute that)

yed 3(s) [7 d1el]

number % 2 == 0?

2ivl g4Y2 s2l
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0 2/ N 2iva1 ¢l glofiis] sieil Bie sRal HI2 Y52 S§184 §5214 Gid1d] FHi N i yeiis 2Qval & uid AIRIRYH2
d3s i A1y .

¥dIGi:

# glofidis] giell M= s2a1 Hied $seld
def print fibonacci(n):
0 &l n yeldl sloii4is) gel fie s2
AIR2IYH=2 ¢
n: Guadl [dM2 (inclusive)
# YoM of vel glalkiydigs s?
a, b=20,1

#n HIA O 5 48 d duil
if n < 0:
print("sul s34 Vs SSRIHS VA €vd sA")

return

# slofiis] gel M2 s?i
print(n, "Yeldl sloiiis] gieil: ")

if n >= 0:

print(a, end=" ") # ueM ye fi2 s

if n >= 1:

print (b, end=" ") # oiled ue M2 s

# olislHl giel ciHial u4 [ s?i
while a + b <= n:
next term = a + b
print(next_term, end=" ")

a, b = b, next term

# gseldd 2l

print fibonacci(55)

2isld:
[N

EERELEE) i )
/\ -
Al

Ve Y
( =13ild
A8 e

a=0, b=1 g[ARIadIg sl

next_term = a + b\n
next_term (Ji-2 s2i\n a = b\n
b = next_term

Al
Al
) a iz sl

4u3l Zls: "FIBER" (First terms set, Initialize variables, Build next term, Echo results, Repeat until limit)

yad 3(1) OR [3 2fel]

%33l Gelerell 2412 continue statementdi Guaidl4 geid s2l.
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$dIGi:
continue 2224-241 GUIdI gu-l dcHi- geel- ISl ARInH] ge2el- U ¥dl HI2 &I ©,

GelsRel:

# 1 el 10 el Hi [GuH 2ivaiil [ s2dl
for i in range(l, 11):
if i 8 2 == 0:
continue # ¥M AwARAI ©IS] €
print(i)

AH1Gayz:

O 9 U W

4u2 2ls: "SKIP" (Skip current iteration, Keep looping, Ignore remaining statements, Proceed to next
iteration)

yed 3(ci) OR [4 djei]
Gelgvel 12l For loop statement 4udl.

SdIGH:
For gu-1 Guaiial sigf [Risd-a (3H § (A2, 2ud, [R221) § A=A FeR01d HI0YS2 UR 2RI S| A €25 HIEeH HI2 SISH
odls vi[Sa5Y2 sl HI2 21 ©.

[Ri2su:

for dR¥cid in [Risd-y:
# €35 vlige HI2 vilSBsYe 4R SIS

GelsRel:

# 1 el 5 el dvaiAl41 9o [ s:al
for num in range(l, 6):
square = num ** 2
print(f”{num}ﬂ gof {square} @")

AHIG2y2:

141 9o 1
241 adf 4
341 9of 9
44l 9df 16
541 adf 25

G G G-

G G-
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visld:
[

\ 4

yReim M s

_—> square = num ** 2

num=12l5

4

443 gls: "FIRE" (For each Item, Run commands, Execute until end)

yed 3(s) OR [7 3fel]
Y52 [Sg1gd §sel] Heeadl M G2 A1H2II <61k & 5 Ul@-5IH d [uilRd s2d1 V1Al sis @uil.

¥dIGi:

# AVl AUMRPI 40R © § 4él d duiidlg §seld
def is_armstrong(num):
# (Sl vl a1eidl Mz Rgomi 3uidRd sl
num_str = str(num)

n = len(num_str)

# €35 [S[¥2d n aid u2 Giusl ddi Adii s2U

sum_of powers = sum(int(digit) ** n for digit in num_str)

# AAINT HAO AUl A1 ARuAId]

return sum_of powers == num

# 2wl uldsH 8 5 48l d duikidlq sseid
def is_palindrome(num) :
# [2oMi 3uidRd s

num_str = str(num)

# 221 a4l Raal g qu9)

return num str == num str[::-1]

# oid [RAMGAI duridl Hizd Ywi $seld
def check number (num):
if is_armstrong(num):
print (£"{num} WS VMRl 462 S")
else:
print (£"{num} s VMR 462 el")

if is palindrome(num):

print (f£" {num} ¥is Q@%ﬂH @”)
else:

print (£"{num} ¥s uld-gH Hal")

# §seldd 2l
number = int(input ('S dWII €ud sA: "))

check number (number)
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is_armstrong $52l4 sid sum_of_powers == num?

:

Ve \ check_number $s2i4 sTd 7\
( ez3tid 2l g-y2 2 N ( id )
\ ) 4 s2l N

is_palindrome §seld sid num == reversed

qu3l gls: "APC" (Armstrong check: Power sum of digits, Palindrome check: Compare with reverse)

yed 4(H) [3 d1el]

254 s2d 6iR even © 5 odd d 2liddi UIAid sis [Asa1di A4 AidA Hai¥ (i s2.

¥dIGi:

# AW ¥4 © S [Ayy d duidiHl YidIH
# qduRleisdi uidal Awa dl
number = int(input("¥s AW €ud SJA: "))

# dw A4 © S [Gyy d duial
if number % 2 ==

print (f£" {number} s M Aw é”)
else:

print (£"{number} is [dwy auwul ©")

visld:
[

e|,_7/ number a4 & [H-=2 s?i /\
-||\—7/ number [GyH & [ /L/

number % 2 == 0?

iVl gY2 s2l

Hu2l gls: "MODE" (Modulo Operation Determines Even-odd)

v 4(6l) [4 del]

§seld] cavl HIul. Y32 [S1g4 §seid Aidy Gelcrel AN Hwdl.
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BAIGH:
$s52l4 A sisHI Adi 6dis © ¥ AissA 51 5241 HI2 Qd[8ld 14 s2leil Guaidl s3] 2ISI . 3252-[SSIPA §5214 A UIAMR
GlIR1 I A9l $S2I € ¥ S22H AUl S2 ©.

YsR-[SgIg §seldI a2si:

o def sldas: ssoi4 vl 213A1d €21id ©

o §52ld AIM: $521 HI2 HOUSdl
o Uanileal: g-ye deys (dslcs)
o SisfRal: 521 i (dslcs)
o §seld GIS]: (52352 12 sis

o [Rad 222d-2: 211Gy d&y (dsl@is)

GelsRel:

# GOIYIRAG &dsn 21RIdl HI2d Y32-[SsIgd §seld
def calculate area(length, width):

doiizald &hbisn 2Ll &
UIRIYH 23 :
length: doidiza-l done
width: doRiiaHl ysing
524:
doiiald &hisy
area = length * width

return area

# $seld sid s
result = calculate area(5, 3)
print (£"doidiRA &PISN: {result}")

443l 2ls: "DRAPE" (Define function, Receive parameters, Acquire result, Process data, End with return)

yed 4(s) [7 2Lel]
fdlda (o1 vHiv2ld-] A1€] Gididi 244 siduel ARl Gerseldi Guidl s2d yuwdl.

FAIGH:
YIi4Hi 201 2HIu2l-:
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luRel

Concatenation

Repetition

Indexing

Slicing

Methods (len, upper, lower, 42I2)
Membership Testing

Formatting

Escape Sequences

JAel (2221 vHivel- [Ga Gersaer:

1. [@@21 Concatenation:

first_name = "John"

last _name = "Doe

full name = first name +

print(full name)

2. [ Slicing:

message = "Python Programming"
print(message[0:6]) # vIGay2:
print (message[7:]) # vIGay2:
print (message[-11:1]) # viIGay2:

3. [@@21 Methods:

text =
print(text.upper())

"python programming"

print (text.capitalize())

print (text.replace("python",

# AHiGay2:
# ¥11G2Yy2: Python programming

n Javan ) )

qeid

+ 41 GUI2l 5214 [222 wisdl

* 4] GUAIdl s34 a1 [Rull2 s2d
yif32ld glzl Ses22 visda s2d|
22141 @191 ¥isA2s2 s2dl

[R2a1 HlAwRydeld Hi2 [Cice-g- ssel
[R2o1Mi 2612221 © 5 ¢l d dulig

sives 2o Gi-1ad]

\ 2 213 2dl A[Rud S35

+ last_name
# ¥lIB2y2: John Doe

Python
Programming

Programming

PYTHON PROGRAMMING

# ¥IGB2y2: Java programming

42l 2ls: "CSM" (Concatenate strings, Slice portions, Manipulate with methods)

yed 4(1) OR [3 de]

vils2d 24 4224 dGi2 dulddl UIAAld SIS Gid1dl.

¥dIGL:
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# vl uilBRa © § 40iRa d duiddl4l WA
# qurieisdi uidiell vl di
number = float(input("ﬁ% AWl evd S2A: "))
# vl UiBRa, diRd, 5 e © d dulRil
if number > 0:

print (£" {number} ¥is Vi[B3Rd 2wyl ©")
elif number < 0:

print (£"{number} is -dil2q vyl B")
else:

print (vl A O")

sisld:
[

I 7 number if%2d © M= s?i

21331 vl g4ye s VN N
3l number 42124 & [i2 s
Al
Al

— AUl 2= © U2

"4zl gls: "SIGN" (See If Greater than 0, Negative otherwise)

yed 4(ci) OR [4 d)el]
A2 Gelgell A1 local 14 global dRicid AuAdl.

SdIGH:
Y142 14Hi dRAHERIAI HAEII-HAAE2] 2SI ¢l 215 ©:

dR¥icid usIR qeid

Local Variable $50144] g2 AIvAIRId 244 Mol d §S2144] ViR ¥ AsA[R[aid

Global Variable $5214l GlsIR UIVAIRId A4 UIUMAI dHIH AHIPMi s [JHd
Gelsel:

# Global dlR¥icid
count = 0 # ¥ Global dfRAcd ©

def update count():
# Local dR¥Acid
local var = 5 # ¥l Local dR¥Acid &

# S$seld4] ve2 Global dlRAGiA sy s2di

global count

count += 1
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print(f"Local dRAcid {local _var}")
print (£"Global dRuicid (§Sel44l ¥ie2): {count}")

# $s2i4 sid s?

update count()

# $s2ld4] celR dRAcd Visdd s:al
print (£"Global dRicid (§Sel4l GisR): {count}")

# VI A4AsH2 said] R g2l

# print(local var) # NameError: name 'local var' is not defined
A1G2y2:

Local dlR¥icid: 5
Global dRAcid (SSeldl vigr): 1
Global dRuicid (§SelH-l GleR): 1

4u2l Zls: "SCOPE" (Some variables Confined to function Only, Program-wide Exposure for others)

yed 4(s) OR [7 {lL’,I]
f[dlda (G2 Vvl A1€] cid1dil 244 siguel sl Gelseldi GUAIdI s34 AHAdi.

SdIGH:
Ui [dee AHlu2l-d;

221 qeid

(G2 Gid19d] 259 Gis2d [] Hi Gualol
g-s[sdo| yif3eld gizl »il@d-2 visdia s2d)
2419l [@2eA1 1211 isy2s2 s2dl
SVES ©cd vildy-2 Gyral

g2 AIss Vifa321d yr Alar-2 GHeal
Ry Uissy AAAH-2 €2 sal

Uiy (@42 g2 529 i U1 Haag
St [Gee vildv-2a AIS2 s2dl

R (@22l s4 Q@2i9d]

RETEES [eea <sisdl

([Gee sifzs-2l

AsYRl-4] Guial s34 [Gee 6i41gd]
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ARl [de2 divel-A [ Gelsrel:

1. (G2 g-5Is121 U4 2d19([oI:

fruits = ["apple", "banana", "cherry", "orange", "kiwi"]
print(fruits[1]) # ¥11G2Yy2: banana

print (fruits[-1]) # v1G2y2: kiwi

print(fruits[1:4]) # ¥IB2y2: ['banana', 'cherry', 'orange']

2. (@22 dasA (append, insert, remove):

numbers = [1, 2, 3]

numbers.append (4) # ©cd 4 GHR

print (numbers) # dHIBaye: [1, 2, 3, 4]
numbers.insert (0, 0) # ifed 0 U2 0 g2 sA
print (numbers) # vG2aye: [0, 1, 2, 3, 4]
numbers.remove(2) # 2 ng gr1adi vildy-2 € SR
print (numbers) # vG2ye: [0, 1, 3, 4]

3. [d22 sifBid-21-:

# asdadl [dze oidigdl
squares = [x**2 for x in range(l, 6)]
print(squares) # »IG2y2: [1, 4, 9, 16, 25]

# UM dval (SR sadl

numbers = [1, 2, 3, 4, 5, 6, 7, 8, 9, 10]
evens = [x for x in numbers if x % 2 == 0]
print(evens) # 1Bye: [2, 4, 6, 8, 10]

443 gls: "AIM" (Access with index, Insert/modify elements, Make using comprehensions)

yed 5() [3 d1el]
[G2Hi vANd Gi il@H2¥4 2dY s2dI YIAAi SIS @il

¥YdIGi:

# [Aeedi of Al@H-224 2du syl WIAM
def swap elements(my_list, posl, pos2):

[@eeMi posl ¥4 pos2 Uil32l4 Ul Al@H=2a4 2du s2 ©
# UilBea v 9 s 4¢l d quiai
if 0 <= posl < len(my_list) and 0 <= pos2 < len(my_list):
# dl@i=a 1y s?
my list[posl], my list[pos2] = my list[pos2], my list[posl]

return True
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else:

return False

# Gelsel
numbers = [10, 20, 30, 40, 50]
print("yo [d2:", numbers)

# UifBed 1 4 3 Ul AldH=a 4y s2
if swap_elements(numbers, 1, 3):
print("2du usl:", numbers)

else:
print ("M Uilbel")

A1G2y2:

ya [@e: [10, 20, 30, 40, 50]
4y ugl: [10, 40, 30, 20, 50]

Hu2l 2ls: "SWAP" (Select positions, Watch boundaries, Assign simultaneously, Print result)

yed 5(61) [4 2Lel]
UI2idi Math Hisld 214 random Hisld GelReldi Guidl s34 44di.

SdIGH:
Math 44 random Hisjd HaIHRSA A1UR21d A 2-5H 4012 S22 HI2-] §521- YEI S ©.

Math Hiseja:
import math

# sl2e-23
print(math.pi)

3

¥1Gay2: 3.141592653589793
print(math.e) # aﬂéaga: 2.718281828459045

# ¥eilCsd Sseld

print(math.sqrt(16)) # v1B2ay2: 4.0
print(math.ceil(4.2)) # 11G2ye: 5
print(math.floor(4.8)) # 1G2y2: 4
print(math.pow(2, 3)) # ¥IB2y2e: 8.0
Random Hisjd:
import random
# 0 4 1 gdl 254 sdie
print (random.random()) # ¥1G2y2: 0.123... (25H)

# 2%l vigr 25y g2lwR
print (random.randint(1, 10)) # 1G2y2: 7 (1 4 10 dR} 2SH)
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# dlsaamiell 2-sM yaigail
colors = ["red", "green", "blue"]

print(random.choice(colors)) # ¥ilG2y2: "green" (@SH)

# [Geed 2sd s2dl

numbers = [1, 2, 3, 4, 5]

random.shuffle(numbers)

print (numbers) # viGeye: [3, 1, 5, 2, 4] (SH)

442l gls: "MR-CS" (Math for Calculations, Random for Choice and Shuffling)

yed 5(s) [7 21el]
Tuple §5214 14 dHiu2d €21fadl YIA2id sis il

¥dIGi:

# Tuple $Sel4 - U2l Yerl

# Tuples Gi-ldd|

empty tuple = ()

single_item tuple = (1,) # didl sl I &
mixed tuple = (1, "Hello", 3.14, True)
nested_tuple = (1, 2, (3, 4))

# Tuple ilAd-=d isda sl

print ("¥ild42 VisAy s2aI:")

print(mixed tuple[0]) # uIBaye: 1
print(mixed_tuple[-1]) # v1G2y2: True
print(nested_tuple[2][0]) # ¥iIG2y2: 3

# Tuple dIg[Jol
print("\nTuple 2dig/(JoI:")

print(mixed tuple[1:3]) # v1G2y2: ("Hello", 3.14)

# Tuple ﬁSQI(concatenation)

tuplel = (1, 2, 3)
tuple2 = (4, 5, 6)
tuple3 = tuplel + tuple2

print("\n%¥isidd tuple:", tuple3) # AIGye: (1, 2, 3, 4, 5, 6)

# Tuple RMN[22
repeated tuple = tuplel * 3
print("\nfRule 2dd tuple:", repeated tuple) # iGeye: (1, 2, 3, 1, 2, 3, 1, 2, 3)

# Tuple HaS

numbers = (1, 2, 3, 2, 4, 2)

print("\n24l dwi:", numbers.count(2)) # ¥iGaye: 3
print ("3l ¢-553:", numbers.index(3)) # AiGeye: 2

No. 20/ 24



videliol WAIfE0I (1323203) - 2132 2023 2iicjeld by Milav Dabgar

# Tuple A4YUlsol

print("\nTuple ¥-UlsoI:")

X, y, 2z = (10, 20, 30)

print(f"x={x}, y={y}, z={z}") # IBye: x=10, y=20, z=30

# TupleHi A= & § 4¢l d duikg

print ("\n4¥oiRfRy 2(@@a1: ")

print(3 in numbers) # v11G2y2: True
print(5 in numbers) # ¥IB2ye: False

# [de2d tupleMi ¥4 tupled [deeMi 3uidRd s2q
my list = [1, 2, 3]

my_ tuple = tuple(my_list)

print ("\nldee2l tuple:", my_tuple)

back to list = list(my_tuple)
print("tupled][aee:", back to list)

2isld:
[

Tuples Gi4idd1 H Al s H Tuples 2@1g4 5241 H Tuples H Tuples Rulz H Tuple ¥aisai-i Guaiial s2dl H Tuples ¥iUs H Hof(2iy durd] H usI2 3uidRd s2a1 ‘

Hu2l gls: "CASC-RUMTC" (Create, Access, Slice, Concatenate, Repeat, Use methods, Membership test, Tuple
conversion)

yed 5(4) OR [3 djel]
([Ge24i A1¥d il@N24] 44101 S2dI Y14l SIS @il.

¥YdIGL:

# [deedl AAl@H-=241 AR4INT saAl Hizl UIAUM

def sum of elements(numbers):

\ N

[@redl clenl AN ANl 52
total = 0
for num in numbers:

total += num

return total
# Gelsel
my list = [10, 20, 30, 40, 50]
print("[dee:", my_ list)

print ("A(@H2341 AJINI:", sum of elements(my list)) # +1G2y2: 150

# [Gle-g4 sum() $SelH4l Guaidl s34 dsla@s 2d
print ("[Gice-gd $s24-1 Gualdl s34 2RAINI: ", sum(my list)) # 41G2y2: 150

2isld:
[
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EIEENT
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tatal L— niim

a2l Zls: "SITE" (Sum Initialized To zero, Elements added one by one)

yed 5(ci) OR [4 d)el]

412 241 built in functionsdi GuidI yHAdi:

q) Print() 2) Min() 3) Sum() ¥) Input()

FUIG:
§seld éd Gelsel
print() sA1d U AH1Gy2 £2lid & print("Hello World")
. iterableniall 2l 4141 A192H
min() N min([5, 3, 8, 1])
Ud S2 €9
iterableHidl dHIH AH1g2x14H
sum() N NN sum([1l, 2, 3, 4])
URYIN] AV ©
. RN oS S name = input("dIH EWd
input() gulRisdl viiall g4ye di & .
s2: ")
Gelsrvl sis:
# print() SSeld
print("&dl, uiRkg41") # yoaeld HIGeye
print("a", "b", "c", sep="-") # JuwrR A AHIGY2: a-b-c
print("ddl @lgd 4él", end=" ") # sS4 end Ss22

print("As ¥ dig-Hi")  # AHIGay2e: Adl digd ¢l vis ¥ digmi

# min() SSeld

numbers = [15, 8, 23, 4, 42]

print("=dd4H HY®I:", min(numbers)) # aﬂGaga: 4
print("5, 2, 9 Hial Ydd4:", min(5, 2, 9)) # iGeye: 2
chars = "wxyz"

print("Idd4 ¥&R:", min(chars)) # AHIGaY2: w

# sum() SSel
print ("AuAIRAIHI AdI0I:", sum(numbers)) # iG2y2: 92
print ("UiRGis Y A1g AAINI:", sum(numbers, 10)) # 4IGayze: 102

# input() S$seld

user_input = input("S$gds €uid SA: ") # dulRISdid g4Y2 HI2 UM S
print("d¥ €uid s3:", user input) # duleisdidl g4ye e2lid ©

No. 22 [ 24

Al tatal usA

A1G2y2

Hello World

10

(@uRlRisdi-] g4ye-l 21
A 8)



videliol WAIfE0I (1323203) - 2132 2023 2iicjeld by Milav Dabgar

443 gls: "PMSI" (Print to display, Min for smallest, Sum for total, Input for reading)

yed 5(s) OR [7 d)ei]

A2 §seld V4 VU214 €21igdl YIAAid Sis @vil.

¥AdIGi:

# de §se4 U U2l e

# d2 ciHigal

empty set = set() # uiidl 2

numbers = {1, 2, 3, 4, 5}

duplicates = {1, 2, 2, 3, 4, 4, 5} # shAS2 VRN € 2”&
print ("4 ¥2:", numbers)

print("gh@se a4l d2:", duplicates) # iIGye: {1, 2, 3, 4, 5}

# ildv= GY:al
numbers.add(6)
print("\n6 GHal usl:", numbers) # H1Geye: {1, 2, 3, 4, 5, 6}

# vids ddldu-=d Al AHuse s2q
numbers.update([7, 8, 9])
print("2ius2 sai ugl:", numbers) # iGeye: {1, 2, 3, 4, 5, 6, 7, 8, 9}

# vilad= g sl
numbers.remove(5) # il@G4=2 4 HO1 di 2> VI
print("\n5 g2 sal ygl:", numbers)

numbers.discard(10) # (@42 4 MO dli sig ik 4dl
print("10 discard sl ugl:", numbers) # sig $2siR ¢l

popped = numbers.pop() # IUHO s Ai[GH= €2 S ¥4 Ud S2
print("pop sed lav-=:", popped)
print("pop ygl: ", numbers)

# 2 Rl
setl = {1, 2, 3, 4, 5}
set2 = {4, 5, 6, 7, 8}

# Y[dad
union_set = setl | set2 # 18dl setl.union(set2)
print("\ny[da4:", union set) # IG2y2: {1, 2, 3, 4, 5, 6, 7, 8}

# g-22:asel
intersection set = setl & set2 # ¥d| setl.intersection(set2)
print("g-22dsel4:", intersection_set) # ¥iIG2y2: {4, 5}

# [Ss2-

difference set = setl - set2 # ¥dl setl.difference(set2)
print("@se-e{ (setl - set2):", difference_set) # IB2y2: {1, 2, 3}

No. 23 /24



videliol WAIfE0I (1323203) - 2132 2023 2iicjeld by Milav Dabgar

# [[@hl2s [Sse-d
symmetric diff = setl " set2 # AHdl setl.symmetric_difference(set2)
print("[RHEs [Ss2i:", symmetric_diff) # G2ye: {1, 2, 3, 6, 7, 8}

# Aoz 4 Yude
subset = {1, 2}
print("\nei {1, 2} ¥ setldl doide 92", subset.issubset(setl)) # ¥IB2y2: True
print("g) setl ¥ {1, 2}l YJud2 ©2", setl.issuperset(subset)) # iIG2y2: True

Ais(d:
<
de
2 HilSsiy s2al Az vHiueld
A(G¥-2 Gral iEH- g2 YA g-2easeld [Sse- [@iRs Acide/

Hu2l 2ls: "CARDS-UI" (Create, Add, Remove, Discard elements, Set operations - Union, Intersection)
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